UNLESS NOTED OTHERWISE DIMENSIONS IN MILLIMETRES  Project:
DO NOT SCALE

PROPRIETARY AND CONFIDENTIAL

aut. safe

Driven by Innovation

ITEM NO. PART NUMBER DESCRIPTION QTY.
10g x 1/2 Zinc Pan Phillips Self
1 10X12ZPPCRST Tapper 9
2 16 x 15mm spacer 16 x 12mm spacer 14
3 16 x 6mm spacer 16 x 6mm Spacer 14
4 ILF-FLR-EXT-1305 Floor Joiner 1305 1
5 Floor Joiner 1740 Floor Joiner 1740 3
6 M8 x 17mm Washer M8 x 17mm Washer 14
M8 x 50mm
/ Domehead Screw M8 x 50mm Domehead Screw 14
8 PTKT-SC1200 Step Cap 1200 Length 1
9 PTKT-SC500 Step Cap 500 length 1
10 PTKTFIVEDAI16-001 Floor Panel 001 1
11 PTKTFIVEDAI16-002 1
PTKTFIVEDAI16-003 1
PTKTFIVEDAI16-004 1
PTKTFIVEDAI16-005 1
TIE DOWN INCLUDED IN VEHICLE 14

DRAWING APPROVAL Snr.Management:

Date: 4/11/2024 Print Date: Part No:PTKTFIVEDAIT6
SCALE:1:33.8heet Size: A3 Finish:
77| AS1100 Description:

Scale:

Sheet No. SHEET 1 OF 6

Client:

Material:

‘ Revision:

Thickness: ‘Sfo’rus:
Vehicle:

Drawn By:




REMOVE ALL TIE DOWN POINTS PRIOR STAGE 02  |\i3!| PARTNUMBER |DESCRIPTION|GIY.

TO |NSTALLAT|ON 1 |Floor Joiner 1740 Flo%r7JAr<%iner 1

PTKTFIVEDAI16-004 1

PTKTFIVEDAIT6-005 1

STAGE Ol

M| PARTNUMBER | DESCRIPTION | QTY.

1 |[PTKTFIVEDAIT6-005 |

. Floor Joiner
2 |Floor Joiner 1740 1740 1

TAILGATE

UNLESS NOTED OTHERWISE DIMENSIONS IN MILLIMETRES ' Project: DRAWING APPROVAL Snr.Management: Client: ‘ Revision:
a t s af e DO NOTSCALE Date: 4/11/2024  Print Date: Part No:PTKTFIVEDAI16 Material: Thickness: ‘Sfofus:
u Tenromanoncommeamnns | Scale:  SCALE:1:33.8heet Size: A3 Finish: Vehicle:

AAAAAAAAAAAAAAAAAAAAAA

Driven by Innovation | rerooucrouneariorssawnote wiour SheetNo. SHEET20F 6 :7 | AS1100 Description: Drawn By:

EEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEE




STAGE 03

STAGE

04

ITEM NO. PART NUMBER DESCRIPTION QTY. ITEM NO. PART NUMBER DESCRIPTION QrY.
] PTKTFIVEDAI16-003 ] ] PTKTFIVEDAIT6-002 ]
2 PTKTFIVEDAI16-004 1 2 PTKTFIVEDA[ 6-005 ]
3 PTKTFIVEDAI16-005 1 3 PTKTFIVEDAI1 6-004 ]
4 Floor Joiner 1740 Floor Joiner 1740 1 4 PTKTFIVEDAI1 6-005 ]
5 Floor Joiner 1740 Floor Joiner 1740 2
5 ILF-FLR-EXT-1305 Floor Joiner 1305 ]
6 ILF-FLR-EXT-1305 Floor Joiner 1305 ]

UNLESS NOTED OTHERWISE DIMENSIONS IN MILLIMETRES  Project:

aut. safe

Driven by Innovation

DO NOT SCALE

PROPRIETARY AND CONFIDENTIAL
THE INFORMATION CONTAINED WITHIN THIS
DRAWING IS THE SOLE PROPERTY OF AUTOSAFE. ANY
REPRODUCTION IN PART OR AS A WHOLE WITHOUT
THE WRITTEN PERMISSION OF AUTOSAFE IS PROHIBITED

DRAWING APPROVAL Snr.Management:

Date: 4/11/2024 Print Date: Part No:PTKTFIVEDAI16 Material:

Scale: SCALE:1:33.8heet Size: A3 Finish:
Sheet No. SHEET3OF 6 i /| AS1100 Description:

Client: ‘ Revision:

Thickness: ‘Sfo’rus:
Vehicle:

Drawn By:




STAGE 05

UNLESS NOTED OTHERWISE DIMENSIONS IN MILLIMETRES  Project:
DO NOT SCALE

a u t s a I e PROPRIETARY AND CONFIDENTIAL

THE INFORMATION CONTAINED WITHIN THIS
DRAWING IS THE SOLE PROPERTY OF AUTOSAFE. ANY

Diriven by Inmevation REPRODUCTION IN PART OR AS A WHOLE WITHOUT

THE WRITTEN PERMISSION OF AUTOSAFE IS PROHIBITED

Date: 4/11/2024 Print Date:

(6)

ITEM NO. PART NUMBER DESCRIPTION QTY.
1 PTKTFIVEDAIT6-001 Floor Panel 001 1
2 PTKTFIVEDAI16-002 1
3 PTKTFIVEDAIT6-003 1
4 PTKTFIVEDAI16-004 1
5 PTKTFIVEDAIT6-005 1
6 Floor Joiner 1740 Floor Joiner 1740 3
7 ILF-FLR-EXT-1305 Floor Joiner 1305 1

DRAWING APPROVAL Snr.Management:

Scale: SCALE:1:33.8heet Size: A3 Finish:

Sheet No. SHEET 4 OF 6

7] AS1100 Description:

Part No:PTKTFIVEDAI16

Client:

Material:

Vehicle:

Drawn By:

‘ Revision:

Thickness: ‘Sfo’rus:




STAGE 06 A
DETAIL a

SCALE 1:3

UNLESS NOTED OTHERWISE DIMENSIONS IN MILLIMETRES  Project:
DO NOT SCALE

PROPRIETARY AND CONFIDENTIAL

DRAWING APPROVAL Snr.Management:

Date: 4/11/2024 Print Date: Part No:PTKTFIVEDAIT6
SCALE:1:33.8heet Size: A3 Finish:
77| AS1100 Description:

aut. safe

Driven by Innovation

Scale:

Sheet No. SHEET 5 OF 6

ITEM

PART NUMBER

DESCRIPTION

NO.
] PTKTFIVEDAI16-001 Floor Panel 001 |
2  |PTKTFIVEDAIT16-002 1
3  |PTKTFIVEDAI16-003 1
4  |PTKTFIVEDAI16-004 ]
5 |PTKTFIVEDAIT16-005 ]
6 |16 x15mm spacer | 16 x 12mm spacer 14
7/ |16 x 6mm spacer 16 x 6mm Spacer 14
8 [TIEDOWN 14
9 (\//\Vg?hgmm M8 x 1T7mm Washer | 14
10 M8 x 50mm M8 x 50mm 14
Domehead Screw | Domehead Screw
11 |Floor Joiner 1740 Floor Joiner 1740 3

ILF-FLR-EXT-1305

Floor Joiner 1305

Material:

Client:

Thickness:

Vehicle:

Drawn By:

‘ Revision:

‘Sfo’rus:




STAGE 07

aut. safe

Driven by Innovation

ITEM

PART NUMBER

DESCRIPTION

QTY.

NO.
1 PTKTFIVEDAI16-001 Floor Panel 001 1
2 PTKTFIVEDAI16-002 1
3 PTKTFIVEDAI16-003 1
4 PTKTFIVEDAI16-004 1
5 PTKTFIVEDAI16-005 1
6 16 x 15mm spacer | 16 x 12mm spacer 14
7/ 16 x 6mm spacer 16 x 6mm Spacer 14
8 [TIEDOWN 14
9 wg?hgrmm M8 x 17mm Washer 14
10 M8 x 50mm M8 x 50mm 14
Domehead Screw | Domehead Screw
11 |Floor Joiner 1740 Floor Joiner 1740 3
ILF-FLR-EXT-1305 Floor Joiner 1305 1
PTKT-SC1200 Step Cap 1200 Length| 1
10g x 1/2 Zinc Pan
10X12ZPPCRST Phillips Self Tapper | 7
PTKT-SC500 Step Cap 500 length ]

olCICIoIOIO NG

DRAWING APPROVAL Snr.Management:

DETAIL &

SCALE 2:15
UNLESS NOTED OTHERWISE DIMENSIONS IN MILLIMETRES ' Project:
DO NOT SCALE

PROPRIETARY AND CONFIDENTIAL

Date: 4/11/2024 Print Date:
SCALE:1:33.8heet Size: A3
.7 7| AS1100 Description:

Part No:PTKTFIVEDAI16

Sheet No. SHEET 6 OF 6

Client: ‘ Revision:

Thickness:
Vehicle:

Drawn By:

‘Sfo’rus:




	Sheet6
	Drawing View21

	Sheet1
	Drawing View3
	Drawing View6

	Sheet2
	Drawing View7
	Drawing View8
	Drawing View9

	Sheet3
	Drawing View11

	Sheet4
	Drawing View14
	Detail View A (1 : 3)

	Sheet5
	Drawing View17
	Detail View B (2 : 15)


